Anatomy MCQs  
these are some  MCQs concern the required topics in the QUIZ

1. regarding the pancreas , the wrong statement is;

A. portal veins lies posterior to the pancreas
b. cancer of the body of the pancreas causes obstructive jaundice
c. removing of the spleen may cause damage the tail of the pancreas
d. acute peritonitis may caused by damage of pancreas tissue

e. the main duct of pancreas opens in 2nd part of duodenum 
2. regarding to the duodenum;
A. the right lobe of the liver lies anterior to 1st part

b. right ureter lies lateral to 2nd pat
c. the neck of the pancreas lies superior to 3rd part
d. the lateral border of psoas muscle lies posterior to 4th part

e. the 3rd part pass in front of the vertebral column
3. regarding to diaphragm which of followings is wrong statement ;
A. right dome reach to upper border of 5th rib.

B. caval opining of diaphragm lies in muscular part at level of T8
C. the medial ligament locates in upper margin of fascia covering the psoas muscle.

D. the periphery of diaphragm supplied from lower sex intercostal nerves.

E. the lateral arcuate ligament extend from the TIP of transverse process of the 1st lumbar vertebra. 

4.all the following statements are incorrect about muscles of posterior abdominal wall EXCEPT :
A. lliacus muscle fiber join the medial part of the psoas muscle tendon to be inserted into the femur.
B.  in sitting up from a lying position , the psoas muscle can flexes the thigh on trunk.

C.  the iliolumbar ligament is thickened above of lumbar fascia which cover the anterior surface of quadratus lumborum 

D. liiacus muscle is supplied by lumbar plexus( 1st ,2nd ,3rd ,4th ) 
E. quadratus lumborum lies adjacent to transverse processes of lumbar vertebrae.
5.one of the followings is NOT correct about,external iliac artery :

A. it becomes femoral artery in its course

b. it enter the thigh by passing under inguinal ligament

c. it follows medial to psoas muscle in its course

d. it does not supply the muscle of the anterior abdominal wall

e. its origin ,from common iliac artery, is behind the ureter   

6.regarding the abdominal aorta:
A. inferior phrenic artery is one of visceral branches.

B. aortic Aneurysms results from atherosclerosis which occur in the old men.
c. the head of pancreas lies interiorly.

d. the thoracic duct leave the abdomen through aortic opining on left side of the aorta

e. it gives the renal artery at same level of gonadal artery.
7. the aorta has relation to all of the followings except: 
A. 3rd & 4th left lumbar veins

b. lesser sac 

c. 1st lumbar vertebra 

d. 2nd part of duodenum 
e.  azygos vein

8.all the followings lies posterior to inferior vena cava except;
A. right ovarian artery
b. right crus of diaphragm

c. right renal artery
d. right middle suprarenal artery

e. right celiac ganglion

9.the lumbar sympathetic trunk ;

A. the left trunk has relation with inferior vana cava
b. the 2nd lumbar splanchnic nerve join the celiac plexus

c. the vascular branches arises from all ganglia to celiac plexus 
d. all ganglia corresponds lumbar spinal nerves by white rami communicantes 
e. none is correct 

10.the celiac plexus;
A. right celiac ganglia is related to IVC

B. it arise from celiac ganglia 

c. the ganglia receives the lesser splanchnic nerve from which arise from sympathetic runk in the abdomen.

d.  A&B correct 

e. none is wrong

11.the pain of peripheral part of diaphragm can reach the spinal cord through;

A. intercostal nerves T7-T11

b. intercostal nerves T8-T11

c. intercostal nerves T7-T12

d. intercostals nerves T7,T8&T9
e. phrenic nerve
12. lumbar sympathectomy;
A. in case of vasodilatation of arteries , it performed
b. it is related to the normal flow in lower limb arteries

c. bilateral sympathectomy may be followed by impairing of erection
d.  A answer is more correct answer

e. none is correct

13. regarding the kidney, choose the wrong statement ;
a. each lobar arteries gives off 2 or3 interlobular arteries
b. malignant tumor of the kidney have a strong tendency to spread along renal vein

c. the afferent nerve fibers of the kidney enter the spinal cord at level of T12
d. renal colic is a signal for increasing kidney mobility
e.the renal artery arises from aorta at level of L2
14. one of the following nerves supplies the skin of the lower part of the anterior abdominal wall;

A. iliohypogastric nerve

B. ilioinguinal nerve
C. femoral nerve

d. genital branch
e. The genitofemoral nerve
15. which of followings is not true about  LYMPHATICS OF ABDOMINAL VISCERA:

A. The lymph of the kidneys go to the lateral aortic lymph nodes
B. The lymph of the ureters drains to the lateral aortic nodes and the iliac nodes
C. The preaortic lymph nodes lie around the origins of the celiac
D. The lymph from the suprarenal glands drains into the lateral aortic lymph nodes
E. The cisterna chyli lies in front of the first three lumbar vertebrae 
16. regarding the ureter: 
A. has a relation with inferior vena cava
b. superior vesical artery supplies the ureter in the abdomen

c. its afferent fiber enter the spinal cord in 1st &2nd  lumbar segments

d. lies anterior to testicular vessels

e. none is correct
17. regarding  the pancreas ;
A. lies anterior to left renal artery

B. has a tail which lies in gastrosplenic ligament

c. lies anterior to lesser sac

d. the main pancreatic duct drains the secretion of islets of langerhans
e. the body part is somewhat triangular in cross section
18. regarding to suprarenal gland , which is wrong;

A. the both rests posteriorly on diaphragm

b. the right one is pyramid shaped
c. stomach lies anterior to the left one

d. the renal artery supply the both

e. the vein of right one drain into renal vein

19. the abdominal aorta :

A.gives off inferior phrenic artery at level of L2
B.gives off suprarenal at level of L2
C.gives off median sacral artery above the level of formation IVC

D. aortic aneurysm  usually at level of L2
E. lies right to inferior vena cava

20. the inferior vena cava:
a. 1st part of duodenum lies anterior

b. most tributaries are bilateral
c. IVC can be compressed in the late stage of pregnancy

d. retroperitoneal tumor can lead to caval-caval shunt
e. all are correct
21.femoral nerve comes from :
a. L1 , L2 & L3
b. L1&L2

c. L2, L3& L4

d. L2,L3

e. L1,L2,L3&L4

22.  regarding to the posterior abdominal wall, which is wrong ;

a. intervertebral discs in the lumbar region are thicker than in other region in vertebral column

b. the costal cartilage of 12th rib is embedded in the posterior abdominal wall

c. The lateral cutaneous nerve of the thigh crosses the iliac fossa in front of the iliacus muscle
d. quadratus lumborum can depress the 12th rib

e. iliacus muscle is fan shaped 
23. the followings statements concerning the lumbar plexus are correct except:

a. the plexus lies within the posoa muscle 
b. the plexus is formed from posterior rami from of upper four lumbar nerves

c. the qbturator nerves emerges from medial border of psoas muscle

d. the ilihypogastric nerve emerges from lateral border of psoas muscle

e. the femoral nerve emerge from lateral border of psoas muscle
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